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Time : 1-5 Hours Maximum Marks : 240

Total Marks : 240 (4 x 60)

Answer all questions

This Question Paper consists of 28 pages. Each Multiple Choice Question (MCQ)
is provided with four options (A), (B), (C) and (D). Identify the correct option and

darken/fill the corresponding circle (A)/(B)/(C)/ (D) with Blue/Black Ballpoint Pen
on the OMR Answer Sheet.

For each question, 4 marks will be awarded for correct answer and for each
wrong answer 1 mark will be deducted.
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PHYSICS

The power of two electric bulbs are P1 and P2 respectively. If they are connected in series,
then power of the combination will be

(A) B +p, B) PR,
JRP, S )

3 ﬁWWWﬂWleeP2uemmﬁmwwmmﬁawm
B Bk ® PP
o TE i
PlP2 (D) P1+P2

2. A heater of 9Q resistance is connecte

d to 30 V DC supply for 1 minute. Energy produced
by the heater is

(A) 100J B) 270J
(C) 600 J D) 6000 J
@B 90 @R IF TF @I 30 V DC BerR I 1 G Hey@ A 22 | Beom =fow s 2@
(A) 100 J B) 270J
(C) 600J (D) 6000 J

3. With reference to the given combination of resistances, the equivalent resistance R AB
between points A and B is

4Q
2Q
S50
A B

3Q 6Q

18 16
(a) =2 B R

(C) 3@ D) SQ
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(C) 3Q
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The distance travelled by a light ray in 1 ns in a glass of refractive index p=1.5 is
(A) 45 cm (B) 40 cm

(C) 30 cm (D) 20 cm

u=1.5 T R¥E Fwa (oox i e 2B 1 ns TR TS 7Y ST I 7 T 7
(A) 45 cm B) 40 cm

(€) 30 cm (D) 20 cm

4 5
If the refractive indices of water and glass are 3 and 3 respectively, then critical angle

for light rays during its passage from glass to water will be

() sin™ % @) sin™ %
() sin”! = D) sin! =
20 16

. 4 :
ﬂﬁW\‘SWM‘CﬁWﬂWE e%a,mwﬂawmmﬁw
HPHLIICR TH T

. _1_4_ . _1§

(A) sin = (B) sin 5
© sin O sin L
20 16

Two thin lenses of powers +12D and -2D respectively are kept side by side. The focal
length of the combination is

(A) 10 cm B) 12 cm

(C) 14 cm (D) 20 cm

TR +12D €32 ~2D HIS! TR 50 *Awa @t siprenfi a1t 2ot swAioa @ onef =3
(A) 10 cm B) 12cm

(€) 14 cm (D) 20cm

PC—Series Q 3 [P.T.O.
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7. The minimum wavelength of X-ray emitted from an X-ray tube is 4:125 *x 10™“nm, then
voltage applied to the X-ray tube is

(A) 80 kv (B) 30 kv
(©) 50 kv (D) 60 kV
A X3 T e Revqe X-2fi s RS 44125 x 10~2nm T, WOT 4G R TS0 W
R
(A) 80 kv B) 30 kV
(C) 50 kv (D) 60 kV

The wavelength of photon emitted by a hydrogen atom when an electron makes a transition
from n =2 to n=1 orbital is

(A) 1218 nm (B) 1948 nm
(C) 4907 nm (D) 913:3 nm

bl G ZRGIER R R G 1 < 2 FF (T n =1 I0F S 30, 37@ @R satnaf
T

(A) 121-8 nm (B} 1948 nm
(C) 490:7 nm (D) 9133 nm

9. The equivalent logic gate of the given logic circuit is

=

L

(A) NOR (B) OR
(C) AND (D) NAND

B TG AeT TG g A (5T 2

=Dt

L]

(A) NOR B) OR
(C) AND (D) NAND
PC—Series Q 4
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11.

If velocity (V), acceleration (A) and force (F) are considered as fundamental units, then
the dimension of Young’s modulus will be

(A) FA?VS B) FAV™
(C) FA%v? (D) FA%*v?
SRES (V), T (4) 932 37 (F) (& 7 GFF 430 272 QTS Tl TR
(A) FA%v-S (B) FAW™

(C) FA%v3 (D) FA%v2

When a small object of mass m is thrown vertically upward, the graphical representation
of its velocity versus time is shown below :

2a
a_\
velocityT ' ' 2b
0 b —>time
_a -
_2a 4

With reference to this graph, maximum height attained by the object will be

(A) 2a B) 2b

(C) ab (D) 2ab

331 m SRR GIMH BE TEF AT TAYY @O T O SIS0 Y T rifpa =7 et

&% TR AT @ A% @ Tworw Tt R W T3
(A) 2a B) 2b

(C) ab (D) 2ab

PC—Series Q 5 [P.T.O.



12. As shown in the figure below, a block of mass 1 kg is hung by three light weight wires 4,

Band C from point P on the roof and point Q on the wall. Tension produced in the wire

Bis
P
45°% Roof
Wall 20°
QB |a
lkg
1

(A) ON (B) _\/__QTN
(€) IN D) 2N

31 foarpie, @b 1 kg S T R @ O 4, B @R C @7 QW QR P R @32 RS

Q R @tz I e =1 | B o Besty B W

P
45°)¢ b
90°
oreye [
QB |4
1kg
1

(A) ON (B) _\EN
(C) 1IN (D) 2N

13. Two uniform circular discs A and B have radii of 10 cm and 30 cm respectively and have
same material and same thickness. The ratio of their moment of inertia about their axes
IA :
I, will be
(A) 1:81 B) 1:27
) 1:9 D) 1:3
Yol 3% BomiA ¢ ¢ RFB 1 T BRI oFfE A @32 B-97 FPME IUSH 10 em 932 30 e |
Iy
oI fAw e s TeTE srer eEed wgere -4 T T
B
(A) 1:81 L B) 1:27
C) 1:9 D) 1:3
PC—Series Q 6



14. A solid sphere of radius R gravitationally attracts a particle of mass m at Ra distance 3R

from its centre such that the force is Fl. Now a spherical cavity of radius E is extracted

(as shown in the figure below ) from the sphere and the force becomes F,. The value of 21 is
2

F.
/%/ Hollow sphere

R / m

—————

M &—— 3R —
(A) 41/50 (B) 50/41
(C) 25/36 D) 36/25

381 R IPITER «3fb b CMereerd (78 (A0S 3R Y 43 m SR IR Yol o7 e = F |
<« ( feas Barpii) 6% cienes vo7 i @3 B/ qypida ciere camiz 3 I 41 2=

. F
a2 @ Foil GIEAIDR I BoR TPA I F, T, },—‘-mwm
2

T e

R /

) m
a s
I
M !(——— 3R _>,'I
(A) 41/50 B) 50/41

(C) 25/36 D) 36/25

15. The spring constant of a toy pistol is k. If the spring is compressed by a distance x and a
bullet of mass m is thrown vertically upward, what will be the maximum height attained

by the bullet?

kx fo?
A g (i
ka

© 2mg O omg

sal O3B oA IR Fete-aq 39 83T k| I Rl x st Hegloe W @k m A 93O
TR o1 Beraa R guee T A T THor T ?

kx kx?
A g B g

kx kx?
© 2mg @) omg

PC—Series Q 7 [P.T.O.
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16. Two soap bubbles of radii 4 cm and 5 cm touch each other and produce a common surface
as shown below. The radius of curvature of the common surface is

(A) 45 cm (B) %Qcm

(€) 9 cm (D) 20 cm

2l 4 cm &R 5 cm AP [ 7S ST Fraw fovww fowaw wwo! HeHTd OB @D MR T 4TS
| 8 FR SoAla IR W =

(A) 45 cm B) %cm

(C) 9 cm (D) 20 cm

17. When a bob is thrown from earth’s surface vertically upward with half the escape
velocity, what will be the maximum height attained by ‘this bob?

R

(A) 5 (B) §
2R

(C) 3 D) R

sl mwmwwmﬁaﬁmwmmmmﬂﬁwww
BowI?

R R
(A) r3 (B) 3
2R
© = D) R

PC—Series Q 8



18. A bucket full of water is rotated in a vertical circular path of radius 16 m. For what
expected maximum time period of revolution, water will not spill out from the bucket?
(A) 1:5s B) 25s
(C) 35s (D) 45s
ol @l el IEfEE 146 m ALK Ty qeeity RN TR | <RI @I A TS
T & IS (AF A & AT 4197
(A) 1:5s B) 25s
(C) 3:5s (D) 45s
19. The rate of radiation of energy from high temperature black body at TK is E W/m?. What
will be the rate of radiation, if temperature decreases to (%)K?
8E 16E
@ 27 ® 27
c 16E 5 32E
2T
351 T% oK @3 F W TK (S e RRTER T@ E W/m? | oria s (?)K = e
8E ' 16E
@A) 57 B -7
16E 32E
()] 81 D) 81
20. Two gases having equal temperature T, equal pressure P and equal volume V are mixed
together. If temperature of the mixture is T'and volume is V, then its pressure will be
(A) P (B) %
€ 2P (D) 4P
301 NI SN T, N B9 P G TN e v RfAR b o aeitet 2@ | fareifbe e 7 @3
e V T, B T@
() P ® %
© 2pP (D) 4P
PC—Series Q 9 [P.T.O.




21.

31

22.

U

23.

R0l

The ratio of densities of a solid at 0 °C and 500 °C is 1027 : 1, the coefficient of linear
€xpansion of the solid is

(A) 12 x 1075/0¢ B) 18 x 1075/°C
(©) 2.4 x 10°5/o¢ D) 3:0x107°/°C

0°C @32 500 °C Tavemw 3l T IS TG SPIS 1:027 : 1, *efb el epirRel gerea
T =

(A) 12 x 1075 /°c B 18x107/°C
(C) 2+4 x 10755 D) 30x107/°C

The time period of oséillation of a simple pendulum in a stationary lift is 2 s. When the

lift ascends with a constant acceleration of %, the time period of oscillation will become

2
® 7 B gs
. |
© 7 ) ?s

e Forgeba fowow Qe @aft st et <tefreen 25 %1 7 v 2 sy e e
WS 2, TI TR R T 2=

2 5
N & gs
4 5
© o

The velocity of a travelling wave of frequency 500 Hz is 360 m/s. The minimum distance
between two points having a phase difference of 60° is

(A) 10 cm (B) 12 cm

(©) 36 cm (D) 18 cm

A3 GACITHT T 500 Hz @32 AT 360 m/s | 60°wm°fmwaﬁmiﬁﬁ"ﬁmm
LT

(A) 10 cm B) 12cm

(C) 36 cm (D) 18 cm

PC—Series Q 10



24, y, =025 sin(kx—316t) and y, =0.25 sin (kx -310t) are two travelling waves moving in
the same direction. When they superpose, the number of beats produced will be

3
(Aa) 7 B 3

(C) 3= D) 6

38! Wb voTeq® y; = 0-25sin(kx-316t) @3g y2=0-2551n(kx-310t) 4% SRYCY DeTTR | ST
TofeiTe o4fS Gty Besw FRITAT T T3

(A) — B) 3

(€ 3= D) 6

25. When a uniform electric field E is applied on an electron of charge —e and mass m,,
magnitude of acceleration will be

mE eE
® B -
2
© = o

26l —e WY 8 mewﬁf*ﬁwﬁm%ﬂaEmmﬁﬁﬁ G AN SRGeTHa AT FAC
RGBS TeH FATH AR AT 203

mE eE
W =" ® n
o & em
© — @) &

PC—Series Q 11 [P.T.O.



26. A charge g is placed at one corner (here at the origin) of a cube as shown below. The
Outgoing electric flux through the shaded area is

q y
X
1 q
A 28, B e
1 q
© 12¢, O Zac

v A, @3 e 3 @ (4RI TARTS) g Wiw 41 SR | BFS wa (ows) (ow
IW @ R ofte FE QAT QRE 79 o ==

q Yy
X
9 q
A) Z8e, B e
9 q
© T2¢, D 24,
PC—Series Q 12



27. The equivalent capacitance C 4 for the points A and B of the given combination of

capacitances is

6 uF
M
L 24 puF 12 uF
p 1| { { }—rt
9 uF
1 F—
18 uF
(A) 10uF (B) 12.5uF
(C) 1SuF (D) 32uF

91 ATE RN A 932 B Ry w0 9o 4199% C, , 997

6 puF
| |
I
24 uF 12 pF
o 1 —— —
9 uF '
- |
18 puF
(A) 10pF (B) 12:5pF
(C) 15uF (D) 32uF

28. A thin metallic wire of length [ carrying current I is bent to form a circle. The induced
magnetic moment of this system is

4rnl
@& 7z

112

© 2

(B

(D)

nl

l

a1
2n

vl I Wamﬁ%zmaﬁwwwﬁﬁmaﬁmmﬂﬁwwmnwmm

TCFR T 24

4nl
A 7z

12

(© 4n
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30.

A charged particle having charge g and mass m moving at a constant velocity v enters a
transverse uniform magnetic field of strength B. It will move in a circular path of radius

mgB mq
(A) - (B) Bu
mv mB
(€ Bg (D) —Uq

m S IR g W RN @3 30 g SR v N voTe oS @I SRR (T7) BrEICRD
B-C3 At 3 | 11fba 38w afdoray qmieds W 2@

mgB
e mB
© By D g

The expected value of current (I) at t =0 and t=oc respectively for the given circuit (t is
time) will be

A 187 5V 5V 18V
A 5518 ® 18755
5V 10V L lov sy

) 18’ 33 (D) 33718

vol oWE BAIPIE t=0 €32 t=oco FW LRI (I)-97 TERT W I

50 50
— AW AW

—

1Q 4Q

18V 5V 5V 18V
55 18 T

_5_‘{ 191 10V 5v
18" 33 (D) 33 '18

(A)

©

PC—Series Q 14



31.

CHEMISTRY

If one or more odd-electron(s) is/are present in a complex compound, then it is designated

as
(A) diamagnetic (B) ferromagnetic

(C) ferrimagnetic (D) paramagnetic

vyl EHE AT @F I GIIT SYA-TLERGA SRS AR G SIS T @ AW O 2@

32.

Rl

33.

ool

(A) SIS (B) ERNIAEADE
(C) R (D) ATRTSALS

o o)
| I
Mention the IUPAC name of the compound CH;— C — CH — g — NH,.

CH,

(A) 1-Amino-2-methyl butan-1,3-dione  (B) 2-Methyl-3-oxobutanamide
(C) 3-Methyl-2-oxobutanamide (D) 2-Oxo0-3-amidobutane

O 0

Il Il
CH3—C—(|3H—C—NH2 @ifba TUPAC 7 e 391

CH,

(a) 1-mfieT-2-faize [REha-1,3-0k¢Y () 2-fRZA-3-CHREEANZEG
Q) 3-FAZe-2-SCHASHANZG (D)  2-SCH-3-SITEIRETEA

To achieve the synthesis of C,H,— CH,— CQH5 applying Corey-House method; the reactants

will be
(A) (CQHS)QCuLi and C,H; — CH, — Br
(B) C,HgLi and C,H, — CH, —Br

Br

|
(©) (C,H,),CuLi and CH,— CH — CHy

(D) (CH,),Culiand CH,CH,CH,Br

RIS 1S e F C,H, — CH, — C,Hy (A 0w 7R &y el 2

(A) (C,H,),Culi 48 C,Hy — CH, —Br

(B) C,HgLi &3¢ C,H;— CH, —Br
Br

|
© (C,Hy),Culi &% CHy— CH— CH,

(D) (CH,),CuLi &3 CH,CH,CH, Br

PC—Series Q 15

[P.T.O.



34. Write the final product of the following reaction :

PdCl,/CuCl
CH3—-CH=CH2+H20 520 oQ L
(A) CH,CH,CHO (B) CH,CH,CH,—OH
o
(€) CH,—C—cH, (D) CHO—CH=CH,

08! fAfaRe Ritrnfba wfew smdf e -

PdCL,/CuCl, _
50°C

(B) CH,CH,CH,—OH

CH3 —CH= CH2 + HZO

(A) CH,CH,CHO
0

(C) CH, — C — CH; " (D) CHO—CH=CH,

35. Identify the products (I) and (III) observing the following sequence of reactions :

20% H,SO NaOH/I,(excess Ag particle
CH,—C=C—H— S /L )a(n) gpA > (1)
1% HgSO,, 60 °C (Colored Solid)

o
Il

(A) CH,CH,CHO,CH=CH (B) CH;— C—CH,, @
@)
]

(C) CH,CH,CHO,CH,—C=CH (O) CH;—C—CH,;, CH=CH

vel fafiRe Rivnslar @ smuRa 3@, @9 (1) €32 (1) & =S 399

20% H,SO NaOH/L,(SfeR& A
CH,—C=C—H — e o:, 68 >0 2 )> a1 gfq > (I1)
(afew Ffw o)
o)
I
(A) CH,CH,CHO, CH = CH B) CH,— C— CH,, @
o)
Il
(C) CH,CH,CHO, CH,—C = CH (D) CH;— C— CH,, CH=CH

PC—Series Q 16

- L ceriSmemn.



36. Acetone is distilled with conc. stO 4 at high temperature, the resulting distillate will be

(A) dry acetone (free from water) (B) mesityl oxide
(C) mesitylene (D) phoron
oyl T AARSET SIFTC T SWHABIAE T S S T, A37ys Sema 73
(A) OF SFDR (W1-7%) B e wite
(©) b (D) R
37. Which of the following acids requires foreign acid catalyst during esterification with
ethanol?
(A) Oxalic acid (B) Benzoic acid
(C) Acetic acid (D) Formic acid
0al IR IR SfTefT RAmER A iR R AR TS SeREeE T 260
(A) e e B @4Re wfie
(C) SCIbE ite D) TR wifc
38. Mention the name of pentose sugar present in RNA.
(A) 2-Deoxyribose _ (B) Glucose
(C) Ribose (D) Fructose

ol RNA-(S 393 (Thre *FRR 719 Sy 34|
(a) 2-eRmRrs B) I
(C) TS (D) FI®

39. Mention the structural formula of the ring compound generated during detection of nitrate

radical.

(A) [Fe(H,0);NOJSO, (B) [Fe(H,0),(NO),|SO,

(C) [Fe(H,0)(NO)4ISO, (D) [Fe(NO)ISO,
obl FINGD PP MAGHACH W B o (R ATHNF A s 39 |

(A) [Fe(H,0);NOJSO, (B) [Fe(H,0),(NO),}SO,

(€) [Fe(H,0)(NO)ISO, (D) [Fe(NO)SO,

PC—Series Q 17 [P.T.O.



40.

80|

41.

8351

42.

81

0:79 gm of a metal oxide is obtained from 0-5 gm of the same metal upon oxidation.
Equivalent weight of the metal will be which of the following?

(C) 20 (D) 40

osmmmmwo.7gmwwﬁw'ﬂwm|WWW‘*@%‘“
T b 19

(A) 10 (B) 138

(© 20 (D) 40

Which set of quantum numbers is not possible?

1 ' 1
3,2,-2,— : -3,—
(A) 2 B) 3.2, 3’2
C 4001 5301
©) 00,2 (D) 3,05
@R CPRTEW TR Gl 7T T ?
A 3,221 ® 323
() y &y ’2 1 ’2
C 4001 530l
() ;’;2 (D) ”’2

Proper decreasing order of first ionisation potential of the elements Be, B, C and Li will be
which one of the following?

(A) C>B>Be>Li B) C>Be>B>Li

(C) B>C>Be>Li (D) Be>Li>B>C

Be, B, C 9% Li (1o e S-Isa Red 30w e @b frhieatn sy @mb?

(A) C>B>Be>Li (B) C>Be>B>Li

(C) B>C>Be>Li (D) Be>Li>B>C

PC—Series Q

18



43.

8wl

88l

45.

8¢l

PC—Series Q

Increasing order of the bond angle of the compounds NH,, BF5, H,0 and CH,, obeys which
one of the following serieses?

(A) H,0 <NH; <CH, <BF, (B) H,0<CH, <NH,; <BF,
(C) CH, < NH, < H,0 < BF, (D) CH, <BF; <NH,; <H,0

NH,, BF,, H,0 @3¢ CH, QPR 3% @ier & e o9 fafeResln s @R afie
TS (77

(A) H,O < NH, < CH, < BF, (B) H,0<CH, < NH, <BF,

(C) CH, <NH, <H,0<BF, (D) CH, <BF, <NH, <H,0

Work done by 1 mole of an ideal gas for its adiabatic reversible change when temperature
attains T, from T, is'

A C-a)n-1) B) Cp(h-T)

© & (T-T) D) (Co-C)(Nh+Ty)

TN AT 1 @ f AMOR TEPTRT O Sl 7, (I T,-(5 G st 36
FoIr =W

(A) (C--G)(T-T) B C(L-T)

© & (%-T) D) (Co-G)Nh+T)

A first-order reaction has K = 5-48 x10™* sec™ . Determine its two-third life (t,/3).

(A) 2-005x10"sec (B) 5-002x10"sec

(C) 2-005x10" sec (D) 5-002x10"sec

aaf ov-7W R K =5.48x10"*sec™! | XA 1RGO @fdJ S (ty0) B

I

(A) 2.005x10"*sec (B) 5-002x10"sec

(C) 2-005x10* sec (D)  5.002x10" sec

19 [P.T.O.



46.

8|

47.

84l

48.

8l

Density of an unknown gas at 273 K temperature and 76 cm of Hg pressure is
1964 gm dem™, Identify the unknown gas.

(A) CH, (B) Xe

© C,H, D) co,

273 K SPIII € 76 cm WSS S (I ST G Y T 1:964 gm dem™ | &
M = 37

@) CH, B Xe

© CH, D) o,

7 i
At 0°C, a balloon is expanded with an ideal gas up to 490 ml which is the 3 th of its

maximum expansion volume. Now, if the temperature is being gradually raised, predict
at what temperature it will burst.

(A) 29 °C B) 30°C

() 39 °C D) 312°C
0°c%mwtﬂa¢ﬁ@wwmwwomlwmmﬁmmw
mwmm%wmaﬁmmquﬁzww,wwmwmﬁmmw
T 99 |

(&) 29 °C B) 30°C

(C) 39°C (D) 312°C

A(g)+3B(g) = 4C(g) is a reversible reaction where all the reactants and product are in
gaseous state.

Conditions :
(i) Concentrations of both A and B are equal at the initiation.
(ii) Concentrations of both A and C are equal at the equilibrium.

Considering the imposed condition, find the value of K of this reversible reaction.

(A) 0-08 B) 08

(€ 80 (D) 800

Alg)+3Bl(g) = 4C(g), @3 Teqdt Rfew 7re iz ¢ Riwwrems swef sy wegm o
L CF

(i) HRRF WA A € B-9F *GF T |

(ii) TMRET A € C-47 g T |

WIS o Tl i, Tend e K 99 19 @@ =)

(A) 0-08 B) 08

(€) 80 (D) 800

PC—Series Q 20



49.

85l

50.

¢ol

51.

($]

Consider the following reversibje reaction :

PCl5(g) = PCl;(g) + Cl,(g)
Which of the following factors will increase the rate of the forward reaction? Opine.
(A) Inert gas is introduced at constant volume
(B) Chlorine gas is passed at constant volume
(C) By reducing the volume of reaction vessel

(D) Inert gas is introduced at constant pressure
frafee oyt fifenfs Rravar 3= .
PCl5(g) = PCl,(g) + Cl,(g)
e o e o ST R sfte siaw wwo ¥o e
(A) T3 et i ot eices e
(B) f&r wwew GrifR it v e
() R =iam wiwew g7 w1 7=
(D) &= et Mfew st e e

If §ma]l amount of In(metal) is added to Ge-crystal, then the composite will turn into
which one of the following substances?

(A) Insulator (B) p-Type semiconductor
(C) n-Type semiconductor (D) Rectifier

WRTAAIGHE (Pl T8 ARAIeT In(41g) ot 34wt (e T RefiReaka so & «md semeRs
?1? '

() FARAY B) pbixe wdeRa®

(C) n-512e wE=fZArZ D) fRafs

Balance the following redox-reaction :

al, + BNO + 4H,0 = cHNO, + aHI

Hence, find the values of a, b, cand d.

(A) 3,2,2,6 B) 6,2, 3,2
) 2,6,3,2 D) 3,6,2,2
fiffRe wre-Rered RiFnte wwet Rew w9

aI2 + bNO + 4H20 = cHNO, + dHl1
OTOREW q, b, ¢ 8 d-93 T @ |
a) 3,2,2,6 B) 6,2,63,2
€ 2,6,3,2 D) 3,6,2,2
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52 The degree of dissociation (o) of an electrolyte A B_is related to the van't Hoff factor (i) via
Which relation?
-1
A) o=Xtytl o=X1Y
4 i-1 (®) i-1
i-1 i-1
C) a= =
< X+y+l o x+y-1
@1 AB, v Rurwm Rees w14t (o) S5 78 B ()-8 08 R oot G 51?
“Xty+l x+y-1
A) a==2YT2 g
W == B ==
i-1 1 -1
C a= =
X+y+1 O) o x+y-1
S3. If an electrolytic solution has specific resistance x and y is the molarity of that solution,
then molar conductance (A,,) of that solution will be
4 1000y 1000x
@) — (B) »
1000
e X
xy ®) Tooo
@ol I I TAGELHF TR ST @ x W @ y U e @ERb W, 7 & @
TR sfREer (A,) TR
1000y 1000x
@ = B
1000 xy
© ®I" Tooo
54. Molal ebullioscopic constant (K,,) of H20 becomes 1-86 when glucose is used as the
solute. Predict the value of K, of H,O if potassium ferricyanide replaces glucose.
(A) 1-86 B) 7-44
€ 372 (D) 558
€81 LIS TR IRZS T T OAIE W9 SR (K, ) T 2 1-86 | % «Biferam cafsmiize
YRS #ARI0E TR TS W, O G K, -7 T FEA 34|
(A) 1-86 B) 7-44
(€ 372 (D) 5-58
PC—Series Q 22
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85. To coagulate Fe(OI—I)3 sol, which one of the following is least effective?
(A) K,[Fe(CN)] B) K,[Fe(CN)(]

(©) K,80, D) Kbr

eel FwA FAMD Fe(OH), ors ofivs FTe wamm 7w I3l 9

(A) K,[Fe(CN),] B  K,[Fe(CN),]

(€) K,SO, (D) KBr

56. Which of the following compounds is the hardest material?
(A) Be,C B) SiC

C) B 4C (D) Graphite

evl R Qetefem w0y Wb 71 5iRre T sme?
(A) Be,C B) SiC

(©) B,C (D) QPG (Graphite)

57. Which of the following acids contains P — O —P bond?
(A) Hypophosphorous acid (B) Phosphorous acid

(C) Pyrophosphoric acid (D) Orthophosphoric acid

¢l Reee wifeskR T @FRte P— 0 —P 3w 6T ?
(A) QI ST B PP ik
(©) *rEETERE e D) wdETERT b
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58. Mention the compound resulting from the reaction of XeF, and H,0.
(A) XeOF, (B)  XeOF,
© Xeo, D) XeO,
¥l XeF,-a3 0% H,0-a7 Rt Tge iy St 9
(A) XeOF2 (B) XeOF,
(©) XeO, (D) XeO,

59. Chemical structure/composition of gangue being generated in the Smp S, Fyoocs
during Cu(metal) extraction is

(A) Cu,O + FeS (B) FeSiO,

€ CuFeS2 (D) Cu2S+ FeO

€51 TR (4rg) i Rowm aftmm @ sigwet Seetn 2, o AR S5 /AR =
(A) Cu,O +Fes (B) FeSio,

S CuF‘eS2 (D) Cu,S + FeO

60. Mention the name of the mineral that does not contain Al(metal).

(A) Cryolite (B) Mica

(C) Fluospar (D)  Felsper
Yol @ YA I AL(YTS) AT 1 O W ST 791

(A) TG (B) a3

(©) &= (D) Tl
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